
/sd ?= xhf/df

s|=;+=
ljj/0f  o; q}df;df  ut q}df;df  

 ut jif{sf] 

o; q}df;df 

1. s"n k""+hL tyf bfloTj -!=! b]lv !=& ;Dd_ 164,525,259    174,626,564    142,996,737    
1.1       r'Qmf k"+hL 8,588,972       8,588,972       8,588,972       
1.2      hu]8f 1,234,778        734,043          (1,094,102)      
1.3       l8j]Gr/ tyf a08x? -               -               -               
1.4      ;fk6L 940,200         943,800         1,048,800      
1.5      lgIf]kx? 146,595,451    146,207,634    124,237,442    

s= :jb]zL d'b|fdf 146,312,647     145,891,741    123,993,409    

v= ljb]zL d'b|fdf 282,804         315,893          244,033         
1.6       cfos/ bfloTj -               -               -               
1.7      cGo bfloTjx? 7,165,858        18,152,115       10,215,625      
2. s"n ;DklQ -@=! b]lv @=& ;Dd_ 164,525,259    174,626,564    142,996,737    

2.1      gub tyf a}+s df}Hbft 20,104,826      31,599,993       32,133,294       
2.2      dfu tyf cNk ;"rgfdf k|fKt x'g] /sd 2,145,000       2,296,000       1,488,022       
2.3       nufgL 41,767,261       43,773,868      22,618,747      
2.4      shf{ tyf ;fk6 - s±v±u±3±8=±r _ 85,989,405     85,470,369      74,691,556      

s= l/on :6]6 shf{ 2,600,278       3,780,837        2,015,108       
!=cfjf;Lo 3/ shf{ -?=! s/f]8 ;Ddsf JolQmut 3/ shf{ afx]s_ 438,440         415,016          284,601         
@= Jofj;flos ejg tyf cfjf;Lo ckf6{d]06 lgdf{0f shf{ 1,107,403        1,004,926       937,135          
#= lgdf{0f ;DkGg eO{ cfo cfh{g ug{ yfn]sf] Jofkfl/s sDKn]S; shf{ -               -               -               
$= cGo l/on :6]6 shf{ -hUufhldg vl/b tyf Knl6u+ shf{ ;d]t_ 1,054,435       2,360,895        793,372          
v= cfjf;Lo 3/ shf{ -?=! s/f]8 ;Ddsf JolQmut 3/ shf{_ 6,207,707        6,088,773       5,894,893       

u= dflh{g k|s[[ltsf] shf{ 1,242,063        1,173,811         1,024,054       

3= cfjlws shf{ 3,820,658       3,613,950        3,702,052        

8= clwlasif{÷ 6««i6 l/l;K6 shf{÷ rfn' k"hL shf{ 43,922,702      44,190,885     36,311,123        

r= cGo 28,195,997      26,622,113       25,744,326      
2.5      l:y/ ;DklQ 1,394,955        1,347,377        1,293,728        
2.6      u}x| a}ls+u ;DklQ 88,006           83,648           83,648           
2.7      cGo ;DklQx? 13,035,806      10,055,309      10,687,742      
3.

gfkmf gf]S;fg lx;fj
 o; q}df;

;Dddf 

 ut q}df;

;Dddf  

 ut jif{sf] 

o; q}df;df 

3.1       Jofh cfDbfgL 1,763,333         7,422,643        1,989,594       
3.2       Jofh vr{ 469,462          1,872,716        484,094        

1,293,871       5,549,927      1,505,500      
3.3       lkm, sldzg tyf l8:sfp06 134,028          445,256         123,191           
3.4      cGo ;+rfng cfDbfgLx? 171,409          553,249          106,960          
3.5      ljb]zL ljlgdoaf6 gfkmf ÷ Gff]S;fg -v"b_ 6,119              42,229           290               

1,605,427       6,590,661       1,735,941       
3.6       sd{rf/L vr{x? 517,614          2,560,976        565,906          
3.7      cGo ;+rfng vr{x? 172,829          902,063          174,957          

914,984        3,127,622        995,078        
3.8      ;+efljt hf]lvd jfkt Joj:yf 331,955           1,056,899       245,996         

583,029         2,070,723       749,082        
3.9      u}x| ;+rfng cfDbfgL ÷ gf]S;fgL -v"b_ 7,431             10,259            7,712             
3.10 ;+efljt hf]lvd afkt Joj:yfaf6 lkmtf{ 101,071          1,096,437        149,561          

691,531          3,177,419       906,355         
3.11 c;fdfGo cfDbfgL tyf vr{x? -v"b_ 34,401           397,177          25,468           

725,932         3,574,596       931,823         
3.12 sd{rf/L jf]g; Joj:yf 53,773            261,035           69,024           
3.13 cfos/ Joj:yf / :yug s/ vr{ 171,327           665,090          258,839         

500,832         2,648,471      603,960         
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cg'kftx?  o; q}df;df  ut q}df;df  
 ut jif{sf] 

o; q}df;df 

4.1      k"+hLsf]if÷ hf]lvd efl/t ;DklQ 11.53% 11.20% 10.65%
4.2      lgliqmo  shf{{÷ s"n shf{ 3.30% 3.95% 3.51%
4.3      s"n shf{ afkt hf]lvd Joj:yf÷s"n lgliqmo shf{ 138.31% 108.18% 130.61%
4.4     k"+hLsf] nfut -cf}ift_ 1.67% 1.84% 2.01%
4.5      shf{{ ÷ lgIf]k cg'kft 58.66% 58.46% 60.12%
4.6       shf{{÷ :jb]zL lgIf]k tyf k|fylds k"+hL cg'kft

-g]=/f=a}+ssf] lgb]{zg cg';f/ u0fgf ul/Psf]_ 55.20% 55.18% 56.55%
4.7       g]6 :k|]8 4.92% 4.27% 5.55%
4.8       cfwf/ b/ 5.010% 6.360% 6.170%
4.9       s"n ;DklQdf k|ltkmn 1.17% 1.60% 1.62%

4.10  z]o/wgLsf]ifdf k|ltkmn 20.93% 33.11% 8.39%

1.

2.

         /fli6«o jfl0fHo a}+s lnld6]8

            l;+xb/af/ Knfhf, sf7df08f}+

                n]vfk/LIf0f gePsf] ljQLo glthf -q}dfl;s_

                cfly{s jif{ @)&#÷)&$ sf] k|yd q}df;df

s= v"b Jofh cfDbfgL -#=!– #=@_

v= s"n ;+rfng cfDbfgL -s±#=#±#=$±#=%_

u= Joj:yf cl3sf] ;+rfng d"gfkmf-v–#++=^–#=&_

3= ;+rfng d"gfkmf -u–#=*_

ª=lgoldt lqmofsnfkaf6 cfDbfgL -3±#=(±#=!)_

o; cjlwsf /sd;+u t'ngfof]Uo agfpg lautsf /sdx? k'ga{uL{s/0f u/]/ k|:t't ul/Psf] 5 .

r= af]g; tyf s/ cl3sf] gfkmf -ª±#=!!_

5= v"b gfkmf gf]S;fg -r–#=!@–#=!#_

;'kl/j]If0f ug]{ lgsfo tyf jfX|o  n]vfk/LIfsn] yk÷36 ug{ lgb]{zg lbPdf kl/:s[t ljlQo ljj/0fdf km/s kg{ ;Sg] 5 .

gf]6 M

g]=/f=a}+saf^ "s ju{sf] Ohfhtk|fKt ;+:yf 


